

Bharathidasan University

Tiruchirappalli - 620 024 Tamil Nadu, India

Programme: M.Sc., Mathematics

Course Title: Theory of Numbers

COurse Code: 21M04CC

Congruences

Dr. V. Piramanantham

Professor

Department of Mathematics

Congruences: another form of divisibility useful -Definition: It an integer m, not zero, hivides the difference a-b, then we say that a is congruent to b modulo m. If a is congruent to b modulo on, we write $\alpha \equiv b \pmod{m}$ a丰b(mood m) otherwise m a-b (a=b (mod m) Note:

4□ > 4周 > 4 = > 4 = > ■ 900

ey a b => N is partial or en (i) N is reflexive (2) Anti symmetric rapa (3) transitive. => 2025 Defin and a/3 & b/c = a/c.
avb & b v c =) a v c. perine a relation R as follo: rarb (> a = b (mod m).

Rig equivalent (Proof is left as exercise) Example: m=7, 16=2 (mod 7) $7 \equiv 0 \pmod{7}$

6=2(mod-7) $15 \equiv 2 \pmod{7}$? is 15 congruent to 2 modulo 7? NO. Remarks: m to. m a-b (=> -m a-b m to be a tre int. we rostrict modulus values m > 6
Recall (pivisibility properties) (A) a b, a c = a bx+cy

4 □ > 4 □ > 4 □ > 4 □ >

(3) a b & b \ c =) a | c | 6 a | b & c7', a c | b c Properhes: Let a,b,c be any integers Am>0. (i) a = b (mod m) (=) b = a (mod n) $(\Rightarrow a-b \equiv o \pmod{m})$ $a = p \pmod{m}$ Proof; By det m a-b (2-) m | - (a-b)

$$(b) = a \pmod{m}$$

$$(b) = a \pmod{m}$$

$$(a-b) = a$$

3 If
$$a = b \pmod{m}$$
 2 $c = d \pmod{m}$
then $a+c = b+d \pmod{m}$
 $a = c$
 $a = b \pmod{m}$
 $a = b \pmod{m}$

$$a = b \pmod{m} = m \mid a - b$$

$$c = b \pmod{m} = m \mid c - d$$

$$\Rightarrow m \mid (a - b) \times + (c - d) y$$

$$\Rightarrow m \mid (a - b) \times + (c - d) b$$

$$\Rightarrow m \mid (a - b) \times + (c - d) b$$

$$\Rightarrow m \mid (a - b) \times + (c - d) b$$

$$\Rightarrow m \mid (a - b) \times + (c - d) b$$

$$\Rightarrow m \mid (a - b) \times + (c - d) b$$

$$\Rightarrow m \mid (a - b) \times + (c - d) b$$

$$\Rightarrow m \mid (a - b) \times + (c - d) b$$

$$\Rightarrow m \mid (a - b) \times + (c - d) b$$

$$\Rightarrow m \mid (a - b) \times + (c - d) b$$

$$\Rightarrow m \mid (a - b) \times + (c - d) b$$

$$\Rightarrow m \mid (a - b) \times + (c - d) b$$

$$\Rightarrow m \mid (a - b) \times + (c - d) b$$

$$\Rightarrow m \mid (a - b) \times + (c - d) b$$

$$\Rightarrow m \mid (a - b) \times + (c - d) b$$

$$\Rightarrow m \mid (a - b) \times + (c - d) b$$

$$\Rightarrow m \mid (a - b) \times + (c - d) b$$

$$\Rightarrow m \mid (a - b) \times + (c - d) b$$

$$\Rightarrow m \mid (a - b) \times + (c - d) b$$

$$\Rightarrow m \mid (a - b) \times + (c - d) b$$

$$\Rightarrow m \mid (a - b) \times + (c - d) b$$

$$\Rightarrow m \mid (a - b) \times + (c - d) b$$

$$\Rightarrow m \mid (a - b) \times + (c - d) b$$

$$\Rightarrow m \mid (a - b) \times + (c - d) b$$

$$\Rightarrow m \mid (a - b) \times + (c - d) b$$

$$\Rightarrow m \mid (a - b) \times + (c - d) b$$

$$\Rightarrow m \mid (a - b) \times + (c - d) b$$

$$\Rightarrow m \mid (a - b) \times + (c - d) b$$

$$\Rightarrow m \mid (a - b) \times + (c - d) b$$

$$\Rightarrow m \mid (a - b) \times + (c - d) b$$

$$\Rightarrow m \mid (a - b) \times + (c - d) b$$

$$\Rightarrow m \mid (a - b) \times + (c - d) b$$

$$\Rightarrow m \mid (a - b) \times + (c - d) b$$

$$\Rightarrow m \mid (a - b) \times + (c - d) b$$

$$\Rightarrow m \mid (a - b) \times + (c - d) b$$

$$\Rightarrow m \mid (a - b) \times + (c - d) b$$

$$\Rightarrow m \mid (a - b) \times + (c - d) b$$

$$\Rightarrow m \mid (a - b) \times + (c - d) b$$

$$\Rightarrow m \mid (a - b) \times + (c - d) b$$

$$\Rightarrow m \mid (a - b) \times + (c - d) b$$

$$\Rightarrow m \mid (a - b) \times + (c - d) b$$

$$\Rightarrow m \mid (a - b) \times + (c - d) b$$

$$\Rightarrow m \mid (a - b) \times + (c - d) b$$

$$\Rightarrow m \mid (a - b) \times + (c - d) b$$

$$\Rightarrow m \mid (a - b) \times + (c - d) b$$

$$\Rightarrow m \mid (a - b) \times + (c - d) b$$

$$\Rightarrow m \mid (a - b) \times + (c - d) b$$

$$\Rightarrow m \mid (a - b) \times + (c - d) b$$

$$\Rightarrow m \mid (a - b) \times + (c - d) b$$

$$\Rightarrow m \mid (a - b) \times + (c - d) b$$

$$\Rightarrow m \mid (a - b) \times + (c - d) b$$

$$\Rightarrow m \mid (a - b) \times + (c - d) b$$

$$\Rightarrow m \mid (a - b) \times + (c - d) b$$

$$\Rightarrow m \mid (a - b) \times + (c - d) b$$

$$\Rightarrow m \mid (a - b) \times + (c - d) b$$

$$\Rightarrow m \mid (a - b) \times + (c - d) b$$

$$\Rightarrow m \mid (a - b) \times + (c - d) b$$

$$\Rightarrow m \mid (a - b) \times + (c - d) b$$

$$\Rightarrow m \mid (a - b) \times + (c - d) b$$

$$\Rightarrow m \mid (a - b) \times + (c - d) b$$

$$\Rightarrow m \mid (a - b) \times + (c - d) b$$

$$\Rightarrow m \mid (a - b) \times + (c - d) b$$

$$\Rightarrow m \mid (a - b) \times + (c - d) b$$

$$\Rightarrow m \mid (a - b) \times + (c - d) b$$

$$\Rightarrow m \mid (a - b) \times + (c - d) b$$

$$\Rightarrow m \mid (a - b) \times + (c - d) b$$

$$\Rightarrow m \mid (a - b)$$

If a = b (mod m), then for any tre integer on na=nb (mod m) (repeated $a = b^n \pmod{n}$ Na= a+a+a-... n tines Proof: Hint an = a.a... n times aze , bzd in property (3).

is a polynomial with integral coefficients (C₀,C₁,...(n are)

and
$$a = b \pmod{n}$$
, then
$$f(a) \equiv f(b) \pmod{m}$$

Proof

$$a = b \pmod{n} = c_1 a = c_1 b \pmod{m}$$

$$a = b \pmod{n} = c_2 a = c_2 b \pmod{m}$$

$$a = b \pmod{m} = c_2 a = c_2 b \pmod{m}$$

$$\vdots$$

$$C_{h} \stackrel{\alpha}{=} C_{h} \stackrel{\alpha}{b} \stackrel{\alpha}{(mod m)}$$

$$\stackrel{\alpha}{=} C_{h} \stackrel{\alpha}{b} \stackrel{\alpha}{+} \cdots + C_{1} \stackrel{\alpha}{+} \stackrel{C}{\leftarrow} 0$$

$$\stackrel{\alpha}{=} C_{h} \stackrel{\alpha}{b} \stackrel{\beta}{+} \cdots + C_{1} \stackrel{\beta}{b} \stackrel{\beta}{+} \cdots + C_{1} \stackrel{\beta}{+} \stackrel{\beta}{+} \stackrel{\beta}{+} \stackrel{\beta}{+} \cdots + C_{1} \stackrel{\beta}{+} \stackrel{\beta}$$

《日》《圖》《意》《意》

It a = $b \pmod{m}$ and $d \pmod{m}, d > 0$ then $a = b \pmod{d}$ the modulus on can be replaced by any of its divisor) $\alpha = b \pmod{n} = m a - b$ (niven that => d a-b

《日》《圖》《意》《意》

a = b (mod m) then for any int c>0 ac= bc (mod m) ac=bc (mod mc) $a = b \pmod{m} \Rightarrow m a - b$ =) m c(a-b) =) m ac-bc =) ac=bc (mod m)

(日) (日) (日) (日)

$$0 \equiv b \pmod{n} \implies m \mid a - b$$

$$\Rightarrow m \mid a - b \mid$$

$$\Rightarrow m$$

$$\begin{array}{cccc}
(5x) & \text{Let } C7^{\circ} \\
& ac=bc \ (mod mc) =) & a=b \ (mod m)
\end{array}$$

$$\frac{a^{2}-b}{a=b} = \frac{a^{2}-b}{ac=b}$$

$$\frac{a=b}{ac=b} = \frac{ac=b}{ac=b}$$

$$\frac{ac=b}{ac=b} = \frac{ac=b}{$$

イロト イポト イラト イラト

Example m = 656 = 14 (mod 6) => 2.28 = 2.7 (mod 6) 28 \pm 7 (mod 6) But (a,m) - the god of a & m

Theorem:
(1) $ax \equiv ay \pmod{n}$ if and only of $ax \equiv y \pmod{\frac{m}{(n,m)}}$

(2) If $ax \equiv ay \pmod{m}$ and (a, m) = 1then $x \equiv y \pmod{m}$

(3) Let m, m, ..., m, be +ve integer,

then

then $x \equiv y \pmod{m_i}, i=1,2,..., Y$ if and only if

= 4) Q (

7 an integer 3

ax-ay=m3

$$=) a (x-y) = m 3$$

St.

LINSON

15 UL (a, m) $x = y \pmod{\frac{1}{(n,m)}}$

Conversely
$$\chi \equiv y \pmod{\frac{m}{(n,m)}}$$

$$\chi = y \pmod{\frac{m}{(n,m)}}$$

$$\chi = y \pmod{\frac{m}{(n,m)}}$$

$$\chi = (a,m) y \pmod{m}$$

$$\chi = (a,m) y \pmod{m}$$

$$\chi = (a,m) x = (a,m) y \pmod{m}$$

$$\chi = (a,m) y \pmod$$